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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 2516 18.7 5.5 30 62.3 69.3
1b 2494 9.2 2.9 15 61.2 68.7
2a 2086 16.4 6.3 30 54.8 57.4
2b 2078 9 2.9 15 60.1 57.2
3a 2109 17.6 5.7 30 58.7 58
3b 2093 9.1 2.7 15 60.8 57.6
4a 510 17.2 6 30 57.2 14
4b 504 7.6 3 15 50.7 13.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE RELIGIOUS STUDIES (AS) 
RS1/2 ETH: INTRODUCTION TO RELIGION AND ETHICS 


 
MARK SCHEME - SUMMER 2015 


 
 
Q.1 (a) Explain how Natural Law can be used to make ethical decisions. [AO1 30] 
 


  Expect some explanation of the main principles of Natural Law in order to 
be able to apply the theory to an ethical issue or issues. 


 


  Aquinas believed that everything has a natural purpose which can be discovered 
through the application of reason/rational understanding.  The purpose of human 
life to fulfil the primary precepts (to worship God, to live in an ordered society, to 
reproduce, to learn, to defend the defenceless).  Secondary precepts help 
humans to uphold these precepts and are generally inflexible, but do change in 
extreme circumstances.  The three revealed virtues (faith, hope, love) and four 
cardinal virtues (prudence, justice, temperance and fortitude) help humans work 
towards their final purpose. He said we can use our ability to reason to 
distinguish between exterior/interior acts and real/apparent goods. 


 


  For example, pre-marital sex would be wrong according to Natural Law because 
it breaks several primary/secondary precepts e.g. it would go against the 
secondary precept – no sexual acts simply for pleasure from the primary precept 
– to reproduce.  In addition to this it breaks other primary precepts – it cannot 
promote an ordered society (could lead to unwanted pregnancy and no nuclear 
family) and it does not promote the ‘worship of God’ as it goes against Biblical 
teaching. 


 
 (b) ‘Natural Law’s absolutist approach to ethics is not practical in today’s 


society.’  Assess this view. [AO2 15] 
 


  Agree 


 Natural Law is too restrictive and does not allow people to act autonomously. 
It makes no allowance for the situation a person finds themselves in. 


 Many people prefer to make decisions based on love or happiness rather 
than strict rules. 


 The majority of people in society are no longer religious and therefore feel no 
compulsion to follow a absolutist theory which assumes that God created the 
world. 


 Many would question Aquinas’ idea of what is ‘natural’. 


 The theory is hundreds of years old and society has changed e.g. attitudes 
towards euthanasia, sexuality etc. 


 The original theory was based on achieving philosophical happiness which is 
no longer relevant for many today. 


 


Disagree 


 It provides clear rules for people to live by, there are no ‘grey’ areas. 


 Many religious believers would approve of its use as sacred texts support 
such an approach e.g. it agrees with the Ten Commandments. 


 It has been used by the Catholic Church as the basis of moral decisions for 
several hundred years. 


 The rules provided by Natural Law are eternal and unchanging so that they 
can apply to all people at all times e.g. to learn. 


 The theory is based on a rational consideration of your actions which many 
people feel is still important today. 


 Using one’s ability to reason, one could see that such rules are practical e.g. 
living in an ordered society.  








Sticky Note

Clear and accurate definition of terms.



Sticky Note

Good understanding of the role of reason in the development of Natural Law theory.








Sticky Note

Having identified the nature and purpose of the primary precepts, the candidate then clearly links their explanation to the question.



Sticky Note

Good use of example to illustrate the degree to which primary precepts can be seen as flexible.



Sticky Note

The virtues are clearly linked to the idea of moral decision making.







Sticky Note

The virtues are not simply listed, but also defined accurately.



Sticky Note

Although this candidate has not covered every aspect of Natural Law, this demonstrates an ability to select relevant material in order to answer the question.  The use of well-chosen examples and the clarity of the explanation show thorough understanding. 







Sticky Note

Although reference to the work of scholars is not a requirement at AS, it is a sign of good preparation for A2 when candidates are able to draw on scholarship to support their points.  



Sticky Note

The candidate structures their argument well here, making their point clearly, before supporting with an example and offering some analysis of the example.







Sticky Note

Another well structured point supported by an effective example.  



Sticky Note

The real strength of this answer lies in the use of examples to illustrate the points raised and the commentary about what the examples show.  For the highest level, the answer would need to include more evaluative comments about the strength or weakness of the points raised.












Sticky Note

Opening paragraph shows understanding of key ethical terms and makes some reference to the question, which is then addressed directly in the next paragraph.



Sticky Note

This paragraph begins well and shows a clear grasp of key features of Natural Law, but the types of law are not linked to the question.



Sticky Note

The virtues are identified, but for higher marks the candidate would have to show how the virtues come into play when making moral decisions.



Sticky Note

This would be an excellent point to bring in the role of the virtues in achieving real goods.



Sticky Note

Interior and exterior acts are not defined or illustrated.







Sticky Note

Primary precepts are identified correctly but not fully explained. The candidate grasps the main idea that secondary precepts are derived from primary precepts, but does not explain this process clearly.



Sticky Note

The last two paragraphs relate the precepts to specific moral issues.



Sticky Note

This answer shows understanding of the main ideas of Natural Law with some use made of evidence and examples.  To improve, a clearer focus on the question with more developed examples would be needed.



Sticky Note

Candidate addresses the question immediately and identifies the first line of argument as supporting the view in the question.



Sticky Note

The arguments for and against here are directly relevant to the question but there is little analytical comment about which view is supported by the candidate.



Sticky Note

Another relevant point of argument. This could be improved with the use of biblical evidence.



Sticky Note

Although the counter-argument here is not expressed very clearly, there is a definite attempt to address the specific demands of the question.







Sticky Note

The candidate has some grasp of the issues here but the line of argument is not really coherent.  



Sticky Note

There is some attempt at analysis in the conclusion.  The candidate has tried to construct an argument by showing both sides, but has not really analysed or evaluated the success of the points raised.  Points are asserted but not supported with much reasoning or evidence.  












Sticky Note

Opening paragraph shows a clear focus on the question



Sticky Note

Some understanding shown of the four levels of law and how these relate to moral decision making



Sticky Note

Misunderstanding of the role of reason in identifying the primary precepts.



Sticky Note

This answer is typical of many Natural Law responses in which the Primary Precepts are simply listed rather than being explained.



Sticky Note

Many candidates are not clear about the level of flexibility in the secondary precepts and tend to describe them as more relativist guidelines.  The 'extreme cases' must be identified and preferably linked to the principle of double effect in order to show accurate understanding.







Sticky Note

The examples here demonstrate a patchy understanding of the key concepts.  Examples need to be carefully chosen to illustrate key concepts accurately.



Sticky Note

A fairly accurate explanation of interior and exterior acts.  This could be improved with reference to the precepts.  



Sticky Note

This paragraph illustrates a common weakness, in that the virtues are identified but the candidate does not define the terms nor do they explain how they contribute towards ethical decision making.



Sticky Note

A mainly accurate explanation of the key features of Natural Law, but very little use of examples to illustrate how the theory may be used to make moral decisions.  This means that the answer is only 'partially adequate.'







Sticky Note

A lot of candidates use the argument that Natural Law is old-fashioned but rarely consider why this is the case. Examples to illustrate the point would be a good addition here.



Sticky Note

The candidate has tried to use an example here, but it does not fully support the point as there is only a partial grasp of the meaning of the precept.  However, the candidate does  include some analysis of the example.



Sticky Note

The point here is valid but, again, the example shows a partial grasp of the theory.  



Sticky Note

Introducing Situation Ethics as an alternative is a valid response here, however Situation Ethics is then mixed up with Utilitarianism.







Sticky Note

These are valid points, but to gain higher marks a commentary about why these points are important is needed.



Sticky Note

This candidate has some grasp of the main points for and against, and uses a logical structure to try to show two sides of the argument. To gain a higher level, greater use needs to be made of evidence and/or examples.
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Answer two questions.


1.	 (a)	 Explain how Natural Law can be used to make ethical decisions.	 [30]


	 (b)	 ‘Natural Law’s absolutist approach to ethics is not practical in today’s society.’
		  Assess this view.	 [15]
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Q.2 (a) Explain the religious arguments against using Situation Ethics as a means 


of making moral decisions. [AO1 30] 
 
  Expect some brief explanation of Situation Ethics in order to explain why 


some religious believers reject it.  Maximum Level 4 if the answer does not 
go beyond this. 


 


 Situation Ethics rejects absolute moral laws like the Ten Commandments, 
but St Paul said that love is the fulfilling of the Law – Romans 13:10. 


 It fails to consider religious tradition or the teachings of Church leaders. 


 St Paul stated that love is not the only desirable quality '..the fruit of the Spirit 
is love, joy, peace, patience, ...' Galatians 5:22-23. 


 Religious leaders such as the Pope have rejected the relativistic approach of 
Situation Ethics. 


 Situation Ethics removes God as the source of ultimate authority in the 
Universe and substitutes man in his place. 


 
 (b) 'Situation Ethics provides a good basis for making moral decisions.'  


Assess this view. [AO2 15] 
 
  Arguments may include the following, but credit any valid arguments:- 
 
  Agree 
  It considers the consequences of the action before it happens. It is subjective 


and gives people the freedom to decide what the most loving thing is in their 
situation.  It is based on the application of reason to emotion – ‘agape’.  It is 
compatible with the altruistic approach of many world religions.  Being a 
relativistic theory, it is less likely to be viewed as old fashioned and keeps apace 
with technological advancements. 


 
  Disagree 
  The consequences of one’s actions cannot be accurately predicted.  For religious 


believers it removes God as the ultimate source of authority as it allows the 
person to decide what is the most loving action.  It does not provide clear cut 
guidance about what to do and the ends do not always justify the means.  Being 
subjective means it is open to abuse; people might use it to justify bad actions by 
claiming they did the ‘most loving thing’.  Being a relativistic theory means that 
society would never get an unchanging set of rules, which might cause moral 
chaos. 








Sticky Note

Although the reference is not accurate, the point raised is credited.



Sticky Note

Some reference to the main principles of Situation Ethics. The answer could be improved by including examples from the working principles or fundamental principles here.



Sticky Note

This point could be developed by including an example.







Sticky Note

The point is supported with an example.  Although the example is not totally clear, it does illustrate the point that is being made to some extent.



Sticky Note

This is a borderline answer but the key phrase in the level descriptor which makes it Level 5 is 'addresses the question.'  Although the candidate has clearly drawn on material revised for an AO2 answer, they have used it appropriately to answer this question showing understanding of the main religious arguments against the use of Situation Ethics.



Sticky Note

Slightly repetitive, but an attempt is made at analysis.







Sticky Note

Again some limited analysis is made here.



Sticky Note

An example would make this point clearer.



Sticky Note

This could have been an excellent point, but the argument drifts from the unpredicatability of consequences, to the inherent sinfulness of certain actions rather than sticking to the same line of argument.  Again, an example would be helpful here.



Sticky Note

This shows a misunderstanding of 'agape'.  This is a common error that many candidates make, particularly in evaluation questions.



Sticky Note

The candidate has made a judgement but  the conclusion could be improved by highlighting which points they believe give the most weight to their decision.












Sticky Note

Shows understanding of some key terms with a basic grasp of why some Christians may reject the theory.







Sticky Note

Candidate shows some understanding of the principles of Situation Ethics and makes an attempt to relate this information to the question.



Sticky Note

Many candidates tackled this question in the same way, explaining the main features of Situation Ethics with some reference to reasons why Christians would reject it.  This was not necessarily a bad way to approach the question.  Here there is only one real religious reason given to oppose Situation Ethics which alone would not have gained a level 4. Combined with a fairly accurate understanding of the theory, this answer can be seen a partially adequate response.  



Sticky Note

This claim needs to be justified.



Sticky Note

This point could be developed with further evaluative comment.  What does this example show us about Situation Ethics?



Sticky Note

An example would be useful here.







Sticky Note

Again, evaluative comment needed here.  What makes this a convincing argument?



Sticky Note

The framework for a good answer is here. The candidate raises some relevant points but needs to develop these further, making greater use of evidence and examples in order to gain higher marks.
















Sticky Note

This paragraph focuses clearly on an aspect of Situation Ethics and points out a specific religious argument against this aspect using Biblical evidence to support their point.



Sticky Note

Good use is made of accurate knowledge of Situation Ethics in order to illustrate the religious argument raised against it.  



Sticky Note

This point is not explained as clearly as the previous two, but is still a valid argument against Situation Ethics.







Sticky Note

Relevant points are raised with some analysis.  To improve, some evaluative comment is needed to show what makes the points convincing.



Sticky Note

Some good points are raised on both sides here.  To gain higher levels, some use of evidence/examples is needed to illustrate the points.  
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2.	 (a)	 Explain the religious arguments against using Situation Ethics as a means of making 
moral decisions.	 [30]


	 (b)	 ‘Situation Ethics provides a good basis for making moral decisions.’
		  Assess this view.	 [15]


© WJEC CBAC Ltd.































































7 
© WJEC CBAC Ltd. 


Q.3 (a) Explain the seven criteria of the Hedonic Calculus. [AO1 30] 
 
  Act Utilitarianism aims for “the greatest happiness for the greatest number.”  


The Hedonic calculus measures the pleasure produced by each ‘act’ using 
seven criteria – 


 
  Intensity – how strong is the happiness? 
  Duration – how long does the happiness last? 
  Purity – how free from pain is the happiness? 
  Extent – how many people does this act bring happiness to? 
  Richness – how much more happiness will this bring about? 
  Certainty – how sure are you that this act will lead to happiness? 
  Remoteness – how long will be people have to wait before they receive 


happiness? 
 
  Maximum Level 4 if no application of the criteria to an example or 


examples. 
 
 (b) 'Utilitarianism can lead to the wrong moral decisions being made.' 
  Assess this view. [AO2 15] 
 
  Agree 


 It does not promote justice for the minority who may be allowed to suffer. 


 One cannot accurately predict the consequences of an act so how can 
anyone know if their action is wrong or right? 


 Happiness is ‘subjective’ so two different people using this theory may come 
to different conclusions about the same situation.  Therefore what one person 
considers to be morally right, another might consider to be wrong. 


 Even using the Hedonic Calculus, you cannot really measure each person’s 
pleasure/pain accurately and ensure your decision is the ‘right’ one. 


 It fails to consider religious teachings. 
 
  Disagree 


 Initially when considering how to achieve the ‘greatest happiness for the 
greatest number’ everyone is considered. 


 When considering how to achieve the ‘greatest happiness for the greatest 
number’ the consequences of a person’s actions are considered. 


 Utilitarianism aims to minimise pain which cannot be wrong. 


 Utilitarianism allows a person to consider the unique situation they are in 
before making a decision about what they should do. 


 Happiness is what many people aim for and this theory allows people to try 
and achieve this. 


  








Sticky Note

Some understanding of the purpose of the Hedonic Calculus within Utilitarianism, but this could be explained more clearly and the idea of measuring the quantity of pleasure should be included.



Sticky Note

Should be 'pain' rather than 'evil'.



Sticky Note

Try to avoid defining key terms using the same word, as this does not show understanding.



Sticky Note

The explanation given here mixes up intensity with extent.



Sticky Note

Again, the definition uses the same key word, although the candidate does attempt to expand on this a little by looking at whether an action is 'more than likely' to happen.



Sticky Note

It is good that the candidate has tried to use an example here, but the choice of example does not really illustrate 'richness' as it is not explained how winning the lottery would lead to further pleasure.



Sticky Note

This answer shows a partial understanding of the Hedonic Calculus.  It is mainly accurate and relavant but could be improved with more precise explanations of each criteria and with the accurate use of examples to illustrate the points.







Sticky Note

As Utilitarianism is not a specifically religious theory, this is not a strong point to start with. 



Sticky Note

This is a common error in terminology.  Bentham refers to the greatest happiness rather than the greatest good.  If a candidate uses 'greatest good' they should always clarify that 'good' relates to pleasure or happiness in this context.



Sticky Note

The candidate does not address why fulfilling the Hedonic Calculus is seen as morally good.



Sticky Note

This shows a misunderstanding of rule Utilitarianism.



Sticky Note

Some reference to the link between pleasure and morality, but the candidate does not really analyse this clearly.



Sticky Note

These points are not specific to utilitarianism, although the contrast with Natural Law would be a fair one to make



Sticky Note

This is a relevant point which could be improved with the use of a supporting example.







Sticky Note

Overall the candidate is on the right lines with this answer and some of the points they select relate directly to the question.  Other points are more general and would need the use of specific examples to tie them clearly to the issues raised in the question












Sticky Note

A brief introduction which shows an understanding of the purpose of the Hedonic Calculus.



Sticky Note

A mainly accurate but very brief definition of each point in the calculus.  Remoteness could be defined more precisely.  To gain higher marks, a more detailed explanation of each point would be needed.



Sticky Note

The criteria of the calculus are applied to the example of euthanasia in a fairly superficial way.  To gain higher marks, a more detailed application would be needed.







Sticky Note

Criticisms of the hedonic calculus are not relevant for this question.  The answer could be improved by missing out this paragraph and the previous one to allow the candidate to add more detail to their explanation of the calculus itself.



Sticky Note

As a result of its accuracy, this just makes the criteria for a level 5 answer.



Sticky Note

The candidate addresses the question directly, which is a good start, however the points raised need further development.



Sticky Note

This paragraph could be improved with the use of examples.  The candidate could also comment on which side of the argument they find the most convincing.



Sticky Note

Neither point in this paragraph is made clearly. The points are being listed rather than being used to answer the question.  Again, examples and evaluative comments would be useful.







Sticky Note

An example is drawn on which gives partial support the the point raised but does not really grasp that there is more to utilitarianism than extent.  

Overall, the answer would benefit from greater use of examples so that the points could be related more clearly to the question.












Sticky Note

Some grasp here of the purpose of the Hedonic Calculus, but the explanation is unclear and fairly basic.







Sticky Note

Misunderstanding of the meaning of 'richness' is a common error seen in scripts.



Sticky Note

Although the candidate defines intensity using 'intense' and certainty using 'certain', which is to be avoided, they do relate their explanations to the morality of the act, which they have not done with the criteria explained previously.



Sticky Note

This was a borderline answer.  The reason it remained in level 3 rather than level 4 is because no examples were used at all to illustrate the criteria.  







Sticky Note

For example....



Sticky Note

This is a common example used to illustrate the point. To improve, the candidate could develop the example to show how utilitarianism may be used to decide that the torture is moral.



Sticky Note

It is good to see a candidate recognising that utilitarianism comes in different a form in an evaluation essay.  Again, this point requires further development to make the argument clear.



Sticky Note

Quality and quantity are mixed up at the end of the paragraph.







Sticky Note

To improve, the candidate would need to assess why this is a good thing.
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3. [30](a) Explain the seven criteria of the hedonic calculus.


(b) ‘Utilitarianism can lead to the wrong moral decisions being made.’
Assess this view. [15]







